
  

1. sQAhl qmQL alEw\ avEr#q\@q\qW X`n\wQnW ld|dR 5k\ rF@gn kml` hmEvWmt p#mQNQy`y. kml` lg k#vEm| 7k\ a#w. kml`t k#vQlQ 

pQg`nk\ pQLQ@yl kQrWmt k#vQlQ 10k\ @w`\r` gw h#kQ a`k`r gNn @k`pmNq? 
(A) 1   (B) 2   (C) 3   (D) 4   (E) 5 

 

 

2. 1234123412341234 yn sAK&`@v| sAK&`Ak 10k\ ivw\ kQrW@mn\ s$qQy h#kQ kOd`m nQKQly vnE@y\, 

 (A) 111121  (B) 111122  (C) 111123  (D) 111124  (E) 111142 

 

 

3. srw\@g\ h` mWn`@g\ vys\ vl ekwOv 25kQ. kml\@g\ h` ab|qEl\@g\ vys\ vl ekwOv 40kQ. kml\ adE wr@m| avEr#qE 2kQn\ 

srw\t vd` b`l @v| nm| ab|qEl\, mWn`t vd` adE wr@m| avEr#qE kWykQn\ v#dQml\ @v| q? 

 (A) 15   (B) 16   (C) 17   (D) 25   (E) 40 

 

 

4. kn\jn`@g\ p`s@lhQ @cs\ kWYd` krn LmEn\@gn\ p@hn\ hwrk\ @h`kW kWYd` krn awr @h`kW kWYd` krn LmEn\@gn\ wO@nn\ 

@qkk\ @cs\ kWYd` kryQ. @h`kW kWYd` krn LmEn\ : @cs\ kWYd` krn LmEn\ yn anEp`wy sm`n vn\@n\, 

 (A) 5 : 12  (B) 10 : 3  (C) 5 : 6  (D) 6 : 5  (E) 3 : 5 

 

 

5. phw 1𝑐𝑚 × 1𝑐𝑚 @k`tE vlQn\ smn\vQw r$p@y\ aqEr# kl @k`t@s\ vr\g Ply vnE@y\, 

 

 

(A) 32.5 cm
2
  (B) 31.5 cm

2
  (C) 30.5 cm

2
  (D) 28.5 cm

2
   (E) 26.5 cm

2
 

 

26. wN@k`L @pw\@wk\ srl @r\K`vk\ os\@s\ qQX` @qktm pnW. ohE A l]@yn\ gmn arB` pQLQ@vlQn\ 1cm, 2cm, 3cm, … 

qErvl\ pnW. phw kOmn pYk`Xy/pYk`X sw& @v|q? 

I ohEt v`r 4kQn\ n#vww\ A kr` p#mQNQy @n`h#k 

II ohEt v`r 2010kQn\ n#vww\ A kr` p#mQNQy @n`h#k 

III ohEt v`r 4020kQn\ n#vww\ A kr` p#mQNQy @n`h#k   

(A) I pmNQ  (B) II pmNQ  (C) III pmNQ  (D) I sh II pmNQ  (E) kQsQvk\ @n`m#w 

 

27. sAK&`Ak 4kQn\ yEw\ sAK&`vk\ em sAK&`@v| sAK&`Ak ag sQt mElt lQyR vQt l#@bn sAK&`vt vd` 4gONykQn\ adEy. enm| 

sAK&`v x h` em sAK&`@v| sAK&`Ak ag sQt mElt lQyR vQt l#@bn sAK&`v y nm|, x=4y @v|. em sAK&`Ak 4kQn\ yEw\ 

sAK&`v g#n kOmk\ kQv h#kQq? 

I qhs\w`ny 2 @v| 

II sQys\w`ny 1 @v| 

III uprQm vX@yn\ @mv#nQ sAK&` a#w\@w\ 1k\ pmNQ 

(A) I pmNQ  (B) II pmNQ  (C) III pmNQ  (D) Iහ sh II pmNQ  (E) sQyl\lm 

 

28. sQsE@vk\ SLMC 2010 wrg`vlQ@y\ g#tU 5kt h#r iwQrQ g#tU sQyl\ltm nQv#rqQv pQLQwOr# @qyQ. @mm g#tU 5t ohE @qn 

pQLQwOr# v#rqQ pQLQwOr# vn awr em g#tU anEy`w @n`@v|. @my sQqEvQy h#kQ ekQ@nkt @vns\ a`k`r gNn @k`pmNq? 

(A) 26x25x24x23x22  (B) 26x25x24x23x22
5x4x3x2x1  (C) 5x5x5x5x5 

 (D) 25x25x25x25x25
5x4x3x2x1   (E) 30x29x28x27x26

5x4x3x2x1  

 

29. 10, 110, 1110, 11110, … yn sAK&` anEkYmy sqh` kOmn pYk`Xy/pYk`X sw& @v|q? 

I @mm anEkYm@y\ s$m @qvn pqyk\m 11n\ @b@q\ 

II @mm anEkYm@y\\ s$m @wvn pqyk\m 3n\ @b@q\ 

 III @mm anEkYm@y\\ 2010n\ @b@qn pqyk\ a#w 

(A) I pmNQ  (B) II pmNQ  (C) III pmNQ  (D) I sh II pmNQ  (E) sQyl\lm 

 

30. I. N. Finity vQsQn\ krvn lq Infinity kQYkt| kWYd`g`r@yhQ apQrQmQw wrg gNnkQn\ yEk\w T20 wrg`vlQyk\ p#v#w\vWmt 

nQymQw awr n vn wrgy sqh` tQkt| pwk mQl, n-1 vn wrg@y\ tQkt| pwk mQl @mn\ 1 − 1
𝑛2  gONykQ. pLmE wrgy 

sqh` tQkt| p@whQ mQl r#pQyl\ 4000k\ nm| phw kOmn pYk`Xy/pYk`X sw& @v|q? 

I tQkt| p@whQ mQl r#pQyl\ 2010k\ vn wrgyk\ pvwW 

II 2010424 vn wrgy sqh` tQkt| p@whQ mQl r#pQyl\ 2000t v#dQy 

III o|n$m wrgyk\ sqh` tQkt| pwk mQl r#pQyl\ 2000t v#dQy 

 (A) I pmNQ  (B) II pmNQ  (C) III pmNQ  (D) I sh II pmNQ  (E) sQyl\lm 
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 11. phw r$p@y\ sQyU n ≥ 1 sqh` AA1 = AnAn+1 = 1 sh ∠AAnAn+1 = 90° @v| nm| AA6 hQ qQg kWyq? 

 

(A) 1 : 2  (B) 1 : 3  (C) 2 : 3  (D) 3 : 1  (E) 2 : 1 

 

12. a, b ynE 5a = 7b vn prQqQ vR {n nQKQl @qkkQ. s$m vQtm a + b v iwQrQ n#wOv @bqn\@n\, 

(A) 3   (B) 5   (C) 7   (D) 11    (E) 13 

 

13. 70t v#dQ nQKQl 15k s`m`n& 85kQ. in\ nQKQl 14k agy 85t v#dQ nm| iwQrQ nQKQl@y\ agy vnE@y\, 

(A) 71   (B) 72   (C) 73   (D) 74   (E) 75 

 

14. a, b, c, d {n nQKQl a#w\@w\ ab + bc + cd + da = 30 vn prQqQ nm| a + b + c + d t gw h#kQ uprQm agy vnE@y\, 

(A) 10   (B) 15   (C) 69   (D) 70    (E) 72 

 

15. @b`r#k`ryQn\@g\ @q\X@y\, 'sEqE' kl\lQ@y\ s`m`jQkyQn\ s$m vQtm sw&y pYk`X krn awr 'rwO' kl\lQ@y\ s`m`jQkyQn\ krn sQylE 

pYk`X asw&y @v|. @mm kl\lQ @q@khQ A, B nm| mQnQsEn\ @q@q@nkO hmEvR vQtk, A, B t "apQ @q@qn`m rwO kl\lQ@y\" y#yQ 

kWy. obt kQv h#k\@k\ kOmk\q? 

I A rwO kl\lQyt ayw\ @v|. 

II B sEqE kl\lQyt ayw\ @v| 

III A sEqE kl\lQyt ayw\ @v| 

(A) I pmNQ  (B) II pmNQ  (C) III pmNQ  (D) I sh II pmNQ  (E) kQsQvk\ @n`m#w 

 

 

 

16. @b`r#k`ryQn\@g\ @q\X@y\, @mm kl\lQ @q@khQ mQnQsEn\ 2010 @q@nkO sm|mn\wYNykqW hmE vQy. ehQ sQtQ s$m pEq\gl@ykOtm 

a@nk\ sQyl\ltm "ap awrQn\ adE wrmQn\ ek\ aykOvw\ sEqE kl\lQyt ayw\ @v|" ynE@vn\ pYk`X kL h#kQ nm| obt kQv 

h#k\@k\ kOmk\q? 

I adE wrmQn\ ovEn\ awO@rn\ ek\ aykOvw\ sEqE @v| 

II adE wrmQn\ ovEn\ awO@rn\ ek\ aykOvw\ rwOE @v| 

III ovEn\ sQyl\lm ekm kl\lQykt ayw\ @v| 

(A) I pmNQ  (B) II pmNQ  (C) III pmNQ  (D) I sh II pmNQ  (E) kQsQvk\ @n`m#w 

 

 

17. ekQ@nkt @vns\ v^w\w @qkk\ hmEvn\@n\ uprQm vX@yn\ l]& 2k qWy. ekQ@nkt @vns\ v^w\w wOnk\ hmEvn\@n\ uprQm 

vX@yn\ l]& 6k qWy. ekQ@nkt @vns\ v^w\w phk\ hmEvn\@n\ uprQm vX@yn\ l]& kWykqWq? 

(A) 20   (B) 30   (C) 42   (D) 56   (E) 72 

 

 

18. ekQ@nkt @vns\ sAK&` kQhQpyk kOd` @p`qE gON`k`ry 30kQ. em sAK&` gNnt gw h#kQ uprQm agy vnE@y\ 

(A) 10   (B) 14   (C) 15   (D) 16    (E) 20 

 

 

19. nQKQl 2010k gONQwy 1 @v|. ev`@y\ ekwOv vQy @n`h#k\@k\, 

(A) 100  (B) 200  (C) 201  (D) 322  (E) 2010 

 

 

20. o|n$m n {n nQKQlyk\ sqh`, f(n) ="1 sh n a#wOUv, n hQ pYxQn\n nQKQl s`{k gNn" nm| phw kOmn pYk`Xy/pYk`X sw& 

@v|q? 

I f(n) = 2010 vn prQqQ n nQKQlyk\ pvwW 

II o|n$m M {n nQKQly sqh` f(n) = M vn prQqQ n nQKQlyk\ pvwW 

III o|n$m m, n {n nQKQl sqh` f(m x n) = f(m) x f(n) @v| 

(A) I pmNQ  (B) II pmNQ  (C) III pmNQ  (D) Iහ sh II pmNQ  (E) sQyl\lm 
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 21. 1, 2, 3, 4 sh 5 yn sAK&`Ak pmNk\ x`vQw` @k`t(pEnr`vr\wny kl h#k) s$qQy h#kQ sAK&`Ak 5kQn\ yEw\ sAK&` 

sQyl\l@g\m ekwO@vhQ avs`n sAK&`Ak wOn vnE@y\, 

(A) 725  (B) 775  (C) 825  (D) 875  (E) 925 

 

22. 1 e'v` 100k\ sh 2 e'v` 50k\ kU l$l\lk\ mw lQy` a#w. l$l\l mw ek ilk\kmk\ pmNk\ iwOr# vn wOr# phw kQYy`v 

krnE l#@b|: ilk\km| @qkk\ mk` qm` e' @qk sm`n nm| 1q asm`n nm| 2 q lQynE l#@b|. phw kOmn pYk`Xy/pYk`X sw& 

@v|q? 

I ihw kQYy`v hrQytm 75 vw`vk\ kQrW@mn\ l$l\l mw iwQrQv a#wQ ilk\km| vl ekwOv ow\@w\ @v|. 

II ihw kQYy`v hrQytm 149 vw`vk\ kQrW@mn\ l$l\l mw iwQrQv a#w\@w\ 1 pmNQ 

III ihw kQYy`v hrQytm 149 vw`vk\ kQrW@mn\ l$l\l mw iwQrQv a#w\@w\ 2 pmNQ 

(A) I pmNQ  (B) II pmNQ  (C) III pmNQ  (D) I sh II pmNQ  (E) kQsQvk\ @n`m#w 

 

23. A = {p1,  p2, … , pn} ynE XOn& @n`vn pYxQn\n pY}mk sAK&` vlQn\ s#qQ kOlkykQ. x = p1p2 … pn + 1 nm| obt 

kQvh#k\@k\ kOmk\q? 

I i = 1, 2, … , n sqh` x, pi  @gn\ @bqR vQt @X\;y 1@v| 

II ek\@k`\ x pY}mk @v|, n#w\nm| xt A hQ @n`m#wQ pY}mk s`{kyk\ pvwW 

III x pRr\N vr\gyk\ vQy @n`h#k 

(A) I pmNQ  (B) II pmNQ  (C) III pmNQ  (D) Iහ sh II pmNQ  (E) sQyl\lm 

 

24. srw\ sh mWn` 8 × 9 smcwOrsY q#l\ a#wQ pQtEvk\ mw phw kWYd`v sQqE kryQ: ovEn\ m`r#@vn\ m`r#vt @p\LQyk\ @h`\ wWryk\ 

kp` qmn\@n\ em @p\LQ@y\ @h`\ wWr@y\ kp` @n`q#mR @k`tEvk\ a#w\nm| pmNQ. @p\LQyk\ @h`\ wWryk\ kp` q#mWmt a@p`@h`sw\ vn 

kWYdky` pr`jy @v|. obt kQv h#k\@k\ kOmk\q? 

I pLmE kYdky`t jyg#nWmt kYm@v|qyk\ a#w 

II 2 × 2 kp` @n`q#mR smcwOrsY q#lk\ a@nk\ kWYdky`t iwOr# krn kWYdky`t jygw h#k 

III @qvn kWYdky`t jyg#nWmt kYm@v|qyk\ a#w 

(A) I pmNQ  (B) II pmNQ  (C) III pmNQ  (D) I sh III pmNQ  (E) kQsQvk\ @n`m#w 

 

25. @mvr @b`r#k`ryQn\@g\ @q\X@y\ p#v#w\vEnE mh` m#wQvrN@yn\ Gullible qQs\wQYk\kyt rwO kl\lQ s`m`jQkyn\@g\ p]@yn\ 

wQ@q@nk\ @w\rW pw\ vQy. mQnQsEn\ 100@q@nkO@g\ Cn\q awOrQn\ em wQ@qn` ; The Protector of Land of Liars, I. M. 

Your Servant sh The Pride of Gullible pQLQ@vlQn\ Cn\q 90, 60 sh 57 b#gQn\ lb`gw\ awr mQnQsEn\ 5@q@nkO wm 

Cn\qy @mm wQ@qn`@gn\ ek\ aykOtvw\ qW n#w. @m`vEn\ wQ@qn`tm Cn\qy lb` qEn\ pEq\glyQn\ gNn uprQm vX@yn\ kWyk\ 

@v|q? 

(A) 36   (B) 45   (C) 50   (D) 53    (E) 56 

 

 

6. AB sh CD qQgvl\ pQLQvlQn\ 6 cm h` 8 cm nm| EF hQ qQg vnE@y\, 

 

(A) 6.5 cm  (B) 7 cm  (C) 7.5 cm  (D) 8 cm   (E) 8.5 cm 

 

7. k`sQ 3k\ awO@rn\ ek\ k`sQyk\ v&`j k`sQyk\ vn awr ehQ br, sm`n br a#wQ s#b$ k`sQ @q@khQ brt vd` adE y. @mm 

v&`j k`sQy x`r rhQw w#tQ wOl`vk(smbr wOl`vk) x`vQw@yn\ @svWmt avX& avm br kQrWm| gNn @k`pmNq? 

 (A) 1   (B) 2   (C) 3   (D) 4   (E) 5 

 

8. ngr hyk\ a#w. s$m ngrykm sQt @klQn\m sm|bn\{ qEm|rQy m`r\g a#w\@w\ @vnw\ ngr @qkkt pmNQ. em qEm|rQy 

m`r\gyk qQg 100km @v| nm| qEm|rQy m`r\g vl mEU qQg @k`pmNq? 

 (A) 300km    (B) 600km    (C) 900km    (D) 1200km    (E) 1500km 

 

9. phw q#k\@vn nQv#rqQv sEe krn lq q\vQmy ekwO kQrW@m| g#tlE@v| s$m akOrk\m 0 @h`\ 1 nQr$pny krn awr e'v` 

ekQ@nkt asm`n vWm anQv`r\y @n`@v|. I=M=S=1 sh H= 0 nm|, EASY vlt gw h#kQ v#dQwm agy qh@y\ p`q@yn\ 

kWyq? 

M A T H 

       +        I  S 

        E  A  S  Y 

 (A) 5   (B) 9   (C) 11   (D) 15   (E) 17 

 

10. a@p\Yl\ ms hrQytm aghr#v`q`vn\ 4k\, bYhs\pwQn\q`vn\ 4k\ sh @snsEr`q`vn\ 4k\ wQ@bn prQqQ vR vsrk a@p\Yl\ 24 kOmn 

qQnyk\q? 

 (A) sqEq`   (B) aghr#v`q`   (C) bYhs\pwQn\q`   (D) sQkOr`q`   (E) @snsEr`q` 
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